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Political Science

Paper II

TR e

PEECIECA N |

Time Allowed : 120 Minutes]
Note : This Paper contains Hundred (100) multiple choice questions. Each question
carrying Two (2) marks. Attempt All questions.

AT : A YIAUCThd THU PO (100) SETAE A el oTRd. Uoieh WAl & (2)

U Sed. €@ YA e

[Maximum Marks : 200

1. Which of the following statements

are true ?

(@)

(b)

(c)

(d)

(A)
(B)
(&)
(D)

33% seats are reserved for
women MPs in Lok Sabha

The number of women MPs in
Lok Sabha has
consistently since 1952/First
Lok Sabha

increased

The number of women MPs in
Lok Sabha has
consistently since 1991/Tenth
Lok Sabha

increased

There are no reserved seats for

women in Lok Sabha
(a) and (b)
(b) and (c)
(¢) and (d)
(a) and (d)

WA v foem sRier 3Ted 2

(@)

®)

(c)

(d)

(A)
(B)
()

(D)

ARG 33% ST AfgAl WHERI-

gt e 3ed.

1952 =a1 ufgean alshqauryd

AR YA AfEdT TERI=T T&

A aTed STl 3:“%

1991 =a1 TBSAT eAhAAITgA

AR AT AfgdT WESRI=T &

N fa o}
AldcH1 dled Al Alel.

AR dd Tt S TEi
S .

(a) 0T (b)

(b) =M (c)

(c) T (d)

(a) 01 (d)

[P.T.O.



Which of the following statements

is not true ?

(A) Women’s Reservation Bill
sought to reserve 33% seats in
Lok Sabha and Rajya Sabha for

women

(B) Women’s Reservation Bill
sought to reserve 33% seats in
Lok Sabha and State Legislative

Assemblies for women

(C) Women’s Reservation Bill is

passed by the Rajya Sabha

(D) Women’s Reservation Bill is

never discussed in Lok Sabha

Which of the following is not a part
of India’s policy of economic

liberalisation ?

(A) Privatization of public

enterprises

(B) Increasing the limit on Foreign

Direct Investment in Industry

(C) Increasing the limit of Foreign
Direct Investment in Defence

Sector

(D) Increasing the minimum limit

for taxable income

MAR - 15223/11—D

@cileddehl hivd faum /e e ?

(A) HAfETEEr=A SR AL eh-
[ A0 ToFEHd 33% TEE
ST Afgarere Teite Savare YfHehl

et

(B) wfee 2TR&Tu fagigeh drmdyl
afor goare faumgaEes) 33%

et ST Savars] YfHeRT e
(C) HAfeaT TR& fageh TsaEay 9
Eaglic I

(D) wfgen mem fadgshEer ARadd
EXIHECE IS U

EeATeTUeh! ShIOAT TS WIRAT=AT 3R

IR0 ROm=T YT ATEr 2

(A) HESIeh Qe SENT WIST el

(B) SERFTqeA 92 TR T[aaeh = a1
ElcEL

(C) TR &ae 92 QR Taavfh =
TfET aTEan

(D) &HUTA Iea=r=nt fwra wafer

el




The Planning Commission of India
published ‘India
Development Report 2011 : Towards

Human

Social Inclusion’. It studies :

(@) Relationship between Asset
Ownership and Poverty

(b) Condition and Challenges

regarding Nutrition
(c) Status of Child Labour
(d) Status of Irrigation Projects
(A) (a), (0), (d)
(B) (a), (b), (d)
(C) (a), (b), (c)
(D) (®), (e), (d)
Which among the following is not

a social movement ?

(A) Chipko Movement

(B) Narmada Bachao Andolan
(C) Asom Gana Parishad

(D) Bandhua Mukti Morcha

Politburo is the highest decision
making body of .................. .

(A) Congress
(B) Bhartiya Janata Party
(C) CPI (M)
(D) Bahujan Samaj Party

MAR - 15223/1I—-D

YRATAT AT AN IR Shaledl ' YRd
qqd g™ 3T@atd 2011 : QISR
qHEEETA foga’ a1 STEeread el

TS 319 el 3T :

(@) WTETHE AR ST SIREE AN
TEHIY

(b) T feordt 9 ATEIETE ST

(c) STereLue feerd

(d) STAHYIRU Yeheurer feerd

(A) (a), (c), (d)

(B) (@), (b), (d)

(C) (@), (B), (c)

D) (®), (e), (d)

GTATeTIehT ShIUTT HTHTISToh Hoaaicd ATl 2

(A) Toge! sTeIeH

(B) 7He1 d=ma AieieH
(C) T9H TUTIRERE
(D) <YsT Hekit Hrei

(A) &I

(B) WRdM a1 dret

(C) "Rl e dret
(D) gSH HHS el

[P.T.O.



Which one of the following is not a

primordial identity of a person ?
(A) Caste

(B) Religion

(C) Citizenship

(D) Language

The Rajya Sabha has exclusive
jurisdiction in :

(A) Proclaiming emergency

(B) Creation of states

(C) Election of the Vice-President

(D) Authorising the Parliament to
legislate on a subject in the

State List

Which of the following Directive
Principles of State Policy was added

later to the Constitution ?

(A) Organisation of Village
Panchayats

(B) Prohibition of Cow Slaughter
(C) Free Legal Aid

(D) Uniform Civil Code

MAR - 15223/11—D

Gt IV et STfeH 3w
AEr ?

(A) SIq

(B) &

(C) MieRea

(D)«

TG ETeiTal e ST SAThRE
e -

(A) fieToii=t =oon o

(B) e s fAfHd

o o

(C) ITregudr=t fereueh

(D) HHSeN TSy waman fosmmer

HTIE] FAIUAIS! UTehd Lol

WIATAUSh! ShIvT HRICSieh aelie THTe
HAd IR HL0A Tl 3T 2

(A) T TEEEE] oA
(B) Tiecdier <igt
(C) HIhd FRERYR Hed

(D) 9 AR IS




10.

11.

12.

13.

Which of the following lists is not

included in the Indian Constitution ?
(A) Union list

(B) State list

(C) National list

(D) Concurrent list

Who said, ‘Head of the government
and Head of the state are twin
brothers ?

(A) Kabir

(B) Barani

(C) Swami Vivekananda
(D) Periyar

Barani’s book, ‘Tarikh-i-Feroze
Shahi’, deals with which subject ?

(A) Theory of origin of state
(B) Duties of the Muslim king
(C) Advice to the Muslim king

(D) Relationship between king and
subjects

Who said that political theory as a
theory, in ideal terms, is dispassionate

and disinterested ?
(A) John Rawls
(B) Andrew Hacker
(C) George Sabine
(D) David Held

10.

11.

12.

13.
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T ShIOT e FHIERT SR
HeAd e ?

(A) 3 AT

(B) T gt

(C) U H=i

(D) FHadl =

SMEATET W@ ST TS e §
IS A’ 39 FIV WO ?

(A) HaR
(B) SR
(C) Tt fa
(D) TRER
SRS g ARIE-T-TRISTeme’ amed
10T foeRIT= == oA el o7e 2

(A) Tr= 3T TG

- .
CEAEH

(B) R STl shded

~

(C) e Tsiren foetan Heam

(D) TS ST S AN oY
‘TSTRTE fogTd STeRl WTe |l
WA= o e o/ dl’, ¥ vl el
A ?

(A) ST Ued
(B) g ¥
(C) SifSl Haed
(D) <fwe Bee

[P.T.O.



14.

15.

16.

Who among the following used the
expression ‘forced to be free’ in
connection with the notion of liberty

of the individual ?
(A) Rousseau

(B) Locke

(C) Green

(D) Hobhouse

Who among the following made the
state a moral institution with a

moral end ?
(A) Bentham
(B) Machiavelli
(C) James Mill
(D) J. S. Mill

Who proposed that power consists in

collective action ?

(A) Hannah Arendt
(B) Jurgen Habermas
(C) Max Horkheimer

(D) Max Weber

14.

15.

16.
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TEAeTUeh] S0 SRR Hehed =l

Heyld ‘ Wader Sleiesdt’ g e GINT
Sl ?

(A) &1
(B) <t
(C) T+
(D) Ta=RHH

‘T B Afae 99 et Afde gen
3R’ 3 WIeilcieh! v e 38 ?

(A) S99
(B) Hfmareea

(C) S e

D) . Ty fua

ek Fdld Hadl FHIIS T d, 3

gfqared v el ?
(A) BT 3R

(B) A greA™
(C) He BrEEE_
(D) HeFH SR




17.

18.

19.

Who wrote the book ‘What is to be

Done’ ?

(A) Plekhnov

(B) Marx

(C) Stalin

(D) Lenin

Who emphasized on the role of
consciousness instead of material

forces among post-Marxist thinkers ?
(A) Antonio Gramsci

(B) Lenin

(C) George Lukas

(D) Trotsky

Who addressed the problem of why
women are oppressed in “The Origin

of the Family, Private Property and
the State (1884) ?

(A) Karl Deutsche
(B) Fredrick Engels
(C) Susan Moller Okin

(D) Althusser

17.

18.

19.
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"oB1Z 391 Z o T ® ek hivit fetfeet ?
(A) =iErHE
(B) e
(C) Efer
(D) wf

+Jifcieh TTeRITaST SO fHehar v

SR ARETR! faaredH W) feen ?
(A) sT=<irteT Tt

(B) <

(C) SfSi fehrd

(D) et

‘o RS et witell, drese wfadd

-~

3f~e i< W2 (1884)" a1 Jwiehd Hige™
OO T B0 2 B LT vl Higat ?

(A) wTel A=
(B) ®efleh Toed

(C) gz HIeR 3kl

(D) 3R

[P.T.O.



20.

21.

22.

Who wrote the book ‘The Subjection

of Women’ ?

(A) Marry Wollstonecraft
(B) Hayek

(C) Iris Young

(D) J. S. Mill

Apasthamba, Gautama, Vashishta,
Baudhayana are the

Of oo, }

names

(A) Ancient Republics

(B) Snataka

(C) Dharmashastras

(D) Mahayanas

Which of the following statements

is incorrect ?

(A) Dharmashastra texts were

authored by a single author

(B)

Dharmashastra texts enumerate

sources of Dharma

(C) Dharmashastra texts present
their ideas under the categories
of

Prayaschitta and others

Acara, Vyavahara,

(D) Dharmashastra are ancient law

books of Hindus

20.

21.

22.

MAR - 15223/II—D
‘g™ S® g’ ® IS (i
fafeet 2
(A) T JEEHRR
(B) =&
(C) ™ a7
D) §. wy. fua

TN, T, YT, SGA & e
& AR ?

(A) A TR

(B) &rdeh

(C) IS

(D) HeE™

Wrefleieh! 3Erg faum slesen :

(A) YIS TehTg =HaA fafeel smmed

(B) ydymeged v dd fave @
e

(C) YT TR Ereitel Siehiaid

faee el 3MRd; 3ThR, 6K,

YER=Ed ST 3

(D) o feg=an Wi shrerear=A
Hfgar e

10



23.

24.

25.

Who put forth the concept of “Total

Revolution’ ?

(A) M. N. Roy

(B) B. G. Tilak

(C) Jayaprakash Narayan
(D) Dr. B. R. Ambedkar

In Ram Manohar Lohia’s
Saptakranti, which among the

following is not included ?

(A)

Revolution for equality between

men and women

(B) Revolution against racial as well
as political and economic
inequality

C)

Revolution against arms and

amunitions

(D)

Revolution against migration

In which book Mahatma Gandhi has

made a critique of modernity ?

(A) Satyagraha in South Africa
(B) My Experiments with Truth
(C) Hind Swaraj

(D) Anasaktiyoga

23.

24.

25.

MAR - 15223/1I—-D

YUl AT HReTT HIOT HEa! ?

(A) TH. W. 1T
(B) <. wit. feoh
(C) SHEYhRT T

(D) <. o. 3N FdSH

THAAE TG TR HE JeTetish!

IV TSl FHEST Bid ATer ?

(A) St &9 FHAES! il

(B) @if3rr q@= UShig Tfor emfeie
fooma faieama shidt

(C) Y& Ao <eiied favg i)

(D) ey faiemd sidl

TETCHT AT ShIoTe JEIehId STy fehae]
oo wheft oe 2

(A) T eTftendial TG

(B) A AN AN

(C) feg =

(D) STATEHIERT

11

[P.T.O.



26.

27.

Choose the incorrect statement from
the following :

(A) Rabindranath Tagore was the

champion of Nationalism

(B) Jawaharlal Nehru was the

architect of Panchasheel

Ram Manohar Lohia put forth
the concept of Chaukhama
State

Dr. B. R. Ambedkar wrote the
book, ‘Rise and Fall of Hindu
Women’

()

(D)

Match the pair using the codes given
below :

List I
Mohammed Igbal
(b) Jawaharlal Nehru
(0 M. K. Gandhi
(d) V. D. Savarkar

List II

Discovery of India

(@)

(1)
(2)
3)
4)
Codes :

(@)
A) (1)
(B) 2)
(C) 4)
D) 3)

Mazini Charitra
Idea of Pakistan
Satyagraha in South Africa

(d)
3)
(1)
3)
(2)

(b)
(2)
(4)
(2)
(1)

(c)
4)
3)
(1)
4)

26.

27.

MAR - 15223/11—D
Wefleien! 3a g faum sfiesen :
(A) TS AR qeAR THYS B

(B)

STETEleld 8% Uavierd f¥euehi

=

TR difgart =reen oAl
HehoUdT HiSal
‘feg fommt s=rt 9 =@’ ® g

[ NN

Sl e ARyl fafga

(&)

(D)

Eeital el I wEd A0 e
S[esdl ¢

RIC |
HEHE g
(b) AR "E®
(¢) TH. . e
d) fa. T Heww

et 11
femhegt 31t gfea
Hfert =i
(3) HIfR&dT = ShedAl
(4) <fero sTfiRehdial
Hehdich :

(@)

(A) (1)
B) @)
©C) 4
D) (3)

(@)

(1)
2)

Hcdlle

(d)
3)
(1)
3)
(2)

(b)
(2)
(4)
(2)
(1)

(c)
4)
3)
(1)
4)

12



28.

29.

30.

Sri Aurobindo use to write in which
newspaper ?

(A) Induprakash

(B) Karmayogi

(C) Deccan Herald

(D) Deenbandhu

In the Jayaprakash Narayan’s
concept of Sarvodaya which is the
last ‘daan’ after Bhoodan, Gramdan,

Sampattidan ?
(A) Grahadan
(B) Jeevandaan
(C) Putradaan
(D) Kanyadaan

Who among the following is the

adherent of syncretic culture ?
(A) V. D. Savarkar

(B) Deendayal Upadhyaya
(C) Kabir

(D) Muhammed Igbal

28.

29.

30.

MAR - 15223/1I—-D

st orfecl IV aqHTed fefgd

I|q ?

(A) STUHMI

(B) wuART

(C) SFFA TWee
(D) feeiy

SEYRTYT TR0 I Halled Hehodd

IS, TFRH, FURGH A hI0d SH
Afua g ?

(A) TREH
(B) SiereH

(C) gFH

(D) =H=ARH

EeTeTdeh! R0 Wi HEhd= qLEndi
g ?

(A) fa. . FER

(B) fefeare Saream

(C) =hsil

(D) WEHS ST

13

[P.T.O.



31.

32.

Andre Gunder Frank and Marta

Fuentes have written the famous

article :

(A) Theses

Movements

Nine on Social

(B)
()

New Social Movements

Cyclical Movement towards the
Eternal : Nine Theses of Social
Movements—A Critique

D)
Which of the following statements

Essays on New Social Movements

are wrong ? Choose your answer

from the codes given below :

(@) Nationalism transformed

Europe in the 19th Century

Nationalism led to the formation

)

of new nation-states in Europe

(¢c) Nationalism

fragmented

European empires

(d)

Nationalism was an intellectual

reaction to the Enlightenment
Codes :
(A) (a), (b)
(B) (), (c), (d)
(C) (@), (b), (c), (d)
(D) None wrong

31.

32.

MAR - 15223/11—D
3 TER Theh MU Tl WU AT
fafecten wfas feg -
(A) e foudw ST Here geeHey

(B) = 9N HegHeH

(C) WHfeishel YegHe ey § e1d
T fudg o e Hesheq—
& fofeh

(D) TS M = WA e
wrefieiieT Hd R =% SR 2 TR

o

feetedn gEliqd S fHaer :

(@) AR 1941 Tdehid JUTH SIECKE

3

(b) TEARH JIUM T TL-TsA=
faior g&

() TZEIRHeS AT JHE et

(d) AR & FelreHTer fHeserent dfgamal

widfshan gt
Hehdich :
(A) (a), ()
(B) (b)), (c), (d)
©) (@), B), (o), (d)

(D) THEl = R

14



33.

34.

Who for the first time separated the

terms ‘Civil Society’ and ‘State’ ?
(A) John Locke

(B) Thomas Hobbes

(C) G. W. F. Hegel

(D) J. J. Rousseau

the

Chronologically organise

following revolutions. Choose your
answer from the codes given below :
(@) Russian Revolution—Bolshevik
(b) French Revolution

(c) Chinese Revolution
(d) American Revolution
Codes :

(A) ), (a), (c), (b)

(B) ), (), (a), (c)

(©) (), (d), b), (c)

D) (), (6), (d), (@)

33.

34.

MAR - 15223/1I—-D

‘TS’ g AR w S A G W

qard YeH HIOT el ?
(A) S leh
(B) 999 gfest
(C) . =g, ThH. &

(D) < <R &9

TTeTd I SRIATIhATTER T
#U. e fecdedn geEqa gue S
IEEEINE

(@) A THhId—dlesifoeh
(b) Wd TSI
(c) fut SE2EARI

(d) R TSI
Hehdich :

A) ), (@), (c), (b)
(B) ), b), (a), (c)
(C) (@), (d), (b), (c)

D) (), (6), (d), (@)

15

[P.T.O.



35.

36.

37.

Which of the following factors
are not conducive to judicial
independence ?

(@) Secure tenure of Judges
(b) Separation of powers

(c) Executive intervention
(d) Legislative intervention

Choose your answer from the codes
given below :

Codes :

(A) (a), (b), (c)

(B) (), (c), (d)

(C) (a), (b)

D) (), (d)

Which of the following is not a civil
society campaign ?

(A) LGBT Rights

(B) Save Marathi Schools
(C) Narmada Bachav

(D) Swachh Bharat

Which of the following are not the
functions of political parties ?

(A) Management of succession to

power

(B) Obtaining popular consent to

the course of public policy

(C) Nominating candidates for

elections

(D) Aggregation of the demands of

interest groups

35.

36.

37.

MAR - 15223/11—D

TATAdRT  HITIA Bk ATATAAA
QS 3Tehd ATéd ?

T feeten gEiq 9ma s e .

(@) —rEneem=n f=a dar wemast
(b) T fausH

(¢) FESN Heoral T

(d) Taforgemn swam

Hehdich :

(A) (@), (b), (c)

(B) b), (o), (d)

©) (a), (b)

D) (e), (d)

ETefteten! I ST Ry ST
AEr ?

(A) TAST.SN.3. B

(B) HUSH IMedl ST=al

(C) T o=

(D) &= Y9d

WTATATUh! I TSTh1 U&TT™ hTH
AEr ?

(A) TIAUS SHEATTT 0l

(B) grasifqeh &Ml @Arehi=l GHA
Tzt

(C) TToSTEIER SHGAR AT 0]
D) Fereie T .
H
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38. Match the following groups in List I

with the type of their organisation
List II :

(@)
b)
(c)

(d)

(1
(2)
3)

(4)

List I
Anti-corruption movement
All India Kisan Sabha

Federation of Indian Chamber
of Commerce and Industries

(FICCI)
Green Peace

List II
Associational Interest group
Lobby

Non-associational interest

group

Pressure group

Choose the correct answer from the

codes :

Codes :

(A 3
(B) 4)
©
D) (2)

(d)
(1
3)
(4)
(4)

(@) ()
(4)
2)
3)

(1)

(c)
(2)
(1)
(2)
(3)

MAR - 15223/1I—-D

38. et feete It I |elld e o e 11
[t =1 o=l YhR AT Sl

SICIMG LY

~_ N

feeiean FehdTehqd AT 3

aer

(@)
b)
(c)

(d)

(1)
2)
3)
(4)

et 1
YR ol doas

AT IRAE fhaE |

ey 3k SfeaM <ad 31 hiAd
DIEECIE
aret 11
e feagedt e
et
ST-FeuTees feagadt Te

AT T

- -
.
.

A 3
(B) 4)
€

D) (2)

(@ B © @

4) 2 @

2 @ @O

3 2 @

1 G @
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39.

40.

Choose the incorrect statement from

below :

(A) American Constitution is very

rigid constitution

(B)

American Constitution was

drafted at Washington

(C) American Constitution did not
provide for Judicial Review, it

was incorporated in 1808

(D) The first 10 amendments to the
US Constitution make up Bill

of Rights

Who said, “The governing class
justifies its actual exercise of power
by resting it on some universal
moral principles” ?

(A) Gabriel Almond

(B) Mosca

(C) Trueman

(D) David Easton

39.

40.

MAR - 15223/11—D

TR wehrd faem sfeen :

(A) ARG ToTEeT Ad diel 378

(B) 1A= Toaee aif¥red 39 qur

0T SATeAT

(C) 3THaftR=aT UsIoead =TT

fald

g

TIehT=il TS ATeadt, 1808 HEA

T THEYT ST

o

N
SHH [ en

(D) = TSgeead Ufgedr 10

FEAIGERIGR aREl Tg T
HLTAT SATAT

X

TR I, T G ST T

[a) A A~

FTEl df¥esh Afaer dwam=ar SMER hid

sEa’’, ® faum w2
(A) Tfosta afers

(B) W&

(C)

(D) ot $&A
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41.

42.

Which of the following statements

is not true ?

India views BRICS forum as a

platform :

(A) To promote economic growth

within the group

(B) To develop close strategic

relations among the member

countries

(C) To address food and energy

security concerns

(D) To prevent increasing U.S.

dominance

Which of the following is not an

element of India’s ‘Act East’ Policy ?
(A) Cultural relations

(B) Nuclear co-operation

(C) Economic relations

(D) Connectivity

41.

42.

MAR - 15223/1I—-D

ETeATcAdeh] hiod faem el Amer ?
fS/eRe TeThe YR I SIS WU
qrEdl ?

(A) TRl 3Tféien faerTraran aTer=T Sum

IS

(B) HYHE SIMHE SUIH W& Hehes

TaY S S

(C) 3T 01 KTl GRar= Hear faar

HLOIE ATHUIS

(D) Taftm=n dredr yue JEvars

IS

TTeAteTdehl hIvAT Fesh RAreA ' ¥
TR’ ARUTE uew ATE ?

(A) WrEHfdw day

(B) snftas g

(C) nfier e

(D) TIUERUMGR SISl SIY[

[P.T.O.



43. Which of the following pairs is not

correctly matched ?

Column 1

(India’s Neighbouring State)

(@)
b)
(c)

(d)

(1)
(2)

3)

4)
(A)
(B)
(&)

(D)

China
Bangladesh
Myanmar
Pakistan
Column II
(Pending Dispute)
Trans-Karakoram Highway
Teesta River Water
Zone

Exclusive Economic

boundary
Sir Creek
(@)—1)
(b)~(2)
(€)~(3)

(d)—(4)

MAR - 15223/11—D

43. WIeicUsh! HIV SISl aeR S[eactat]
A& ?

(@)

®)

(c)

(d)

(1)

(2)

3)

(4)

(A)

(B)

(®)

(D)

w1
(STATET PISTRT 29T)
EIk
EIEIEN
IR
ElIERSIE|

W 11

(T georen faam)

H-FRhITH  HETHT
e &= ol
T e & He
W E@reEl
(a)-1)
b)—2)
(€)—~3)

(d)—(4)
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44. Which of the following pairs is not | 44. WTeliclush! HIV SISl TR S[eBaCTa!

correctly matched ? E ?

Column I wWy 1
(India’s Neighbouring State) (VAT ISR 9T)
(@) China (@) =+
(b) Pakistan (b) IfRET
(c) Nepal (€ ™S
(d) Bhutan (d) =

Column II wWy 11
(Pending Border Dispute) [ geoen i faae)
(1) Aksai Chin (1) g =i
(2) Trans-Karakoram Highway (2) TE-HRGRY HeMEF
(3) Kalapani Border (3) T ST
(4) Arunachal Pradesh Border (4) STEUTEA Yo HIH
(A) (@)—(1) (A) (@)—(1)
(B) b)~2) (B) (b)~(2)
(©) (©—3) (©) (©—3)
D) (d)—4) D) (d)—4)
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45.

46.

The “Comprehensive Economic Co-
operation Agreement” (CECA) was
signed to boost bilateral ties between
India and :

(A) Singapore

(B) Myanmar

(C) Malaysia

(D) Vietnam

Assertion (A) :

The changed global scenario after
the end of the Cold War made it

imperative for India to build up

sound relationship with the US.
Reason (R) :

Pakistan factor no more governs

India’s foreign policy.
Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true
but (R) is not the correct

explanation of (A)
(C) (A) is true, but (R) is false

(D) (R) is true, but (A) is false

45.

46.

MAR - 15223/11—D

" gy i TR R’ (CECA)
B URAM IO QIMORERK hefl 2

(A) R
(B) =MR
(C) wetf¥rm
(D) fua™
faam= A) -

SMGT Sgeteied Sfaes TRferdHes
IRAT ST FdY FERU TR

T,

T (R) :

TRATAT R HROMER. qifehear a1

TIHET UG A il Tl

- -
-
-

(A) (A) 2701 (R) SI=et SRIeR 3TTRd ST
(R) ® (A) ¥ a9 TIOR3

-~

(B) (A) T (R) Sl SRR 3TTed, W
(R) B (A) = I IR0 e

(C) (A) =R 3118, 907 (R) & I 318
(D) (R) SR 3T, T (A) T I 3T
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47. Assertion (A) :

India-China relations are extremely

complex today.
Reason (R) :

India and China have common
interests at the WTO; their bilateral
trade has grown rapidly in the past
decade, and they also have pending
disputes over thousands of kilo-

meters of border.
Codes :

(A) (A) is true, but (R) is false

(B) Both (A) and (R) are true, but

(R) is not the correct reason

of (A)
(C) (R) is true, but (A) is false

(D) Both (A) and (R) are true and

(R) is the correct reason of (A)

MAR - 15223/1I—-D

47. fagam™ (A) :

ST YRA-<1H FaY 3T Slfedd e

3T

%R (R)

YR 30T <=9 A= SIfaeh AR Seed

T feqdey oTRd; oAl SR

e fguefi™ =R S died 3TR;

Tfor STEHY B9 TR e = HiHee

T geoal foar smed.
PO

(A) (A) IR 3118, 90T (R) B I 3118

(B) (A) 27fur (R) Tt sIeIX 37Ted, a0

(R) ® (A) 9 I TR0 ATEY

(C) (R) IIsR 3118, 90T (A) § I 3R

(D) (A) 3T (R) TFal seR 3Ted ST

R) % (A) 3 ITT WEH AR
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48.

49.

Choose the incorrect statement from

the following :

(A) In Indian Constitution Articles
352, 356 and 360 deal with

emergency powers

(B) American Constitution does not
expressly grant the President
powers in times of national

emergency

(C) In India emergency was
declared in the year 1975 under

Article 360

(D) In America President Roosevelt

invoked emergency during

World War II

The concept of ‘Circulation of elites’

has been used by :
(A) Gaetano Mosca
(B) Vilfredo Pareto
(C) Robert Michels

(D) Max Weber

48.

49.

MAR - 15223/11—D

Qrelteien! gehra faum sfeen :

(A) AR TTee-diel setd 352, 356,
360 ITHLN AT faoRreh aRel
3R

(B) R ToTE-H T STUaTo=
A TIEALA T STFEhR

feoat e

(C) YR 1975 |l et 360 Tavid

ST & 0aTd et Bt

(D) SE1 HEHGTAl HhIBd THHD
oA TP AT SOMSTON SR
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50. Which among the following is an

51.

incorrect statment ?

(A) Liberalization does not always
lead to democratic transition
(B) Democracies must meet three
basic procedural criteria :
competitive elections, adult
citizenship and minority rights
(C) According to O’Donnell there
are two transitions : a transition
to democracy and transition to
a consolidated democracy
(D) All democracies emerged after
second world war have transited

from democracy to consolidated

democracy

Collective security measures were
first applied by the UN in 1950.
Against which country were they
applied ?

(A) Cuba

(B) North Korea

(C) Vietnam

(D) Egypt

MAR - 15223/1I—-D

50. Wciiciieh! 3Fg faum sfeswn .

51.

(A) SISO ATHE  TARIME

HHAT T AR

(B) TAIhYMEMAEd shigl HAYd FisharcHeh
e o e AFTa ;. SR

T

M= Ad SF Y=l Hehyu)

AT ; AIhYMEHEY FehHul STTfuT

(&)

g3 TAIhYIRIhe HohHY]

(D) THA FHRGSHMR 34Tl 3Tleied el

IR TTTR] o™ 3@ TAheEIHEA

THAT A A®

TR TSN 1950 A Tfgeaial Afeeh

TR TR AT ot RV SENfaes
ARA! Bt ?

(A) =g

(B) ST =hIfE
(C) foua™
(D) 3o

[P.T.O.



52. Match the following pairs using the

key given below :

Column 1

(International Organization)

(@)
®)

(c)

(d)

(1
(2)
3)
4)

Universal Postal Union (UPU)

United Nations World Tourism
Organisation (UNWTO)

Fund

Development

International for

Agricultural
(IFAD)

International Civil Aviation
Organisation (ICAO)

Column II
(Headquarters)
Montreal
Rome
Madrid

Bern

Codes :

A) (2)
(B) 3)
C) @
D) 3)

(@) (®)
3)
(1)
3)

(4)

(c)
(1)
(4)
(2)
(1)

(d)
4)
(2)
(1)
(2)

MAR - 15223/11—D

a

52. Tl

SN a N ~
[Qadcdl =l AlHea dlid siisl

ezl :

(@)
®)

(c)
(d)

(1)
(2)
3)
(4)

wy 1
(MAWTET Gee)

SIATfaer 29Tl |ee1 (UPU)

T ST SIATfaeh Tied T
(UNWTO)

AW Foit faehrd et (IFAD)

STAWRSEE A IESIT HoeAl
(ICAO)

e 11
(TEATe)

1598

-
-
X3

A) (2)
B) 3)
C) @)
D) 3)

(@) (®)
3)
(1)
3)

(4)

(c)
(1)
(4)
(2)
(1)

(d)
4)
(2)
(1)
(2)
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53. Who builds on Kenneth Waltz’s | 53. Tgyeita sueren sgysa sqaee=al qeid
argument concerning the stability of AAferen feer o1ed, o1 Y dieeg Al
bipolar system as compared to AISUiien ge 3 faan fowr wrefierte]
multipolar system ? w0 faaReam der ?

(A) Stanley Hoffmann (A) =1 FFAH
(B) Charles Kindelberger (B) =ncH feheerariy
(C) John Mearsheimer (C) M HeeR
(D) John Gaddis ) ESIERIE

54. When did the WTO come into | 54. SNIfdeh SHTIR HoeAl Shegl SR el
existence and where is its sfor faa qeare™ &g g ?
headaquarters ¥ (A) 1995 wea, fferweT <.

(A) In 1995, Washington D.C.

(B) 1993 weA, fegu=
(B) In 1993, Vienna
(C) In 1993, Seattle (C) 1993 =¥, fes
(D) In 1995, Geneva (D) 1995 weA, fSifen

55. The Nuclear Suppliers’ Group (NSG) | 55. 3Tfias RESRER ¥ T (NSG) et

was formed in the year : AT st ?
(A) 1972 (A) 1972
(B) 1977 (B) 1977
(C) 1974 (C) 1974
(D) 1969 (D) 1969
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56.

57.

58.

Which of the following countries
is not a member of Shanghai

Co-operation Organisation ?
(A) China

(B) India

(C) Tajikistan

(D) Iran

Who has written the book “The Cold
War : Retrospect and Prospect” ?

(A) Lewkowicz Nicolas
(B) Hopkins Michael
(C) Frederick Schuman
(D) Bronson Rachel
Assertion (A) :

The Arctic sea route remains open
for navigation for more number of

days a year since last few years.
Reason (R) :

The ice on the Arctic is melting more
due to climate change.

Codes :

(A) Both (A) and (R) are true, and
(R) 1s the cause of (A)

Both (A) and (R) are true, but
(R) is not the cause of (A)

(B)

()
D)

Both (A) and (R) are not true
(R) is true, but (A) is not true

56.

57.

58.

MAR - 15223/I11—D
TTCieTieh] IVl <FT SO gt
e HHEE AT ?
(A) =M
(B) ¥rd
(C) dfSifere™
(D) 3
3 Fes i ; e dve S
T gw® & fafe e ?

o N

(A) gehifad THehleTd

(B) ®MUfehd HFhHc

(C) el A

(D) s=E =

faam (A)

ARfe e auaTgA 3Tfeeh AT AN
Rl 3Tk foaw Een TRl

T (R) :

= o ¢ oY
aldle¥-sgeilgo SHllereenaic EEF)‘ S

g fadesd 3R,

'Fl@'d‘l? :

(A) (A) 3TfUT (R) T2t sIeR Tred, 30T
(R) ¥ (A) ¥ &R T8

(B) (A) 1f1 (R) T8l SR 3Ted, qUT
[R) T (A) I HRU A&

ha [a)

(C) (A) =1for (R) Tt SR R
(D) (R) IR 3T, T (A) SRER
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59.

60.

61.

Where is the headquarters of
SAARC ?

(A) New Delhi
(B) Kathmandu
(C) Thimpu
(D) Colombo

Democratic Peace Theory is placed
under which theoretical approach of

International Relations ?
(A) Structural Realism

(B) Classical Realism

(C) Idealism

(D) Institutional Liberalism

Which tool is used to measure NGOs

social and ethical performance ?
(A) Green Audit

(B) Economic Audit

(C) Gender Audit

(D) Social Audit

59.

60.

61.

MAR - 15223/1I—-D

qehd H&AE Sio AR ?
(A) ol feeeft

(B) leHIS

(C) foq

(D) hresl

AR Ihaa=n fagia  sTawRrse ™

YA I Gt aal ?

(A) G=AHS ATEdede
(B) YN ariaarg

(C) 3TeRiaE

(D) TEACHE ISRHATE

TASHel (NGO) =1 |ifsies o Hfdeh

[aaY

AR
e ?
(A) BRT sfehegm
(B) amfefsh sfehagor
(C) fomwma steherm
(D) WIS ST

TSI Sh{0gT™ ShIUd |8
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62.

63.

64.

What mechanism is not used for good
governance ?

(A) Jansunwai

(B) Citizens charter

(C) Ombudsman

(D) Grievances redress system

What are the objectives of monitoring

and evaluation of public policy ?

(@)

The assess whether policies are

over or under performing

®)

To assess whether are working

as planned

(c)

To assess whether the target is

achieved
Codes :
(A) (a@) and (b)
(B) (a), (b) and (c)
(C) (b) and (c)
(D) (a) and (c)
Which among the following is not
included in UNDP’s sustainable

development goals ?

(A) Quality education

(B) Poverty eradication

(C) Traditional energy sources

(D) Gender equality

62.

63.

64.

MAR - 15223/11—D
Y-MERAAET RV T AR S
AT ?
(A) SHgAaE
(B) ANTR&RT=N Hg
(C) ATrEEsd
(D) PR THarRor =Haeen
HrelSIfeh GROT= S8RE 3 AR
1 Sfesey 3TRd ?

(@) 4ROl SEAR At foper &t
g T -t § qurEul

(b) RO FASAER ®RRa a6
& 7 qu

(c) = 9= weld foh ARl § qureo
Hehdlah :

(A) (a) T (B)

B) (@), (b) M ()

(C) (b) =fur (c)

D) (a) 3 (c)

et hivd UNDP=AT 2eed feehrer
RIS LA

(A) 7o e

(B) wisa fder

(C) URuRek Hsil Hid

(D) famyme TqHEa
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65.

66.

The origin of good governance is

traced to the seminal work of :
(A) Alexis de Tocqueville

(B) Thomas Paine

(C) Robert Putnam

(D) Larry Diamond

The origin of contemporary
resurgence of interest in good
governance is credited to the

publication of :

(A) Governance and Development,

1992

(B) Governance without
Government : Order and Change

in the World Politics, 1992

(C) Making Democracy Work : Civic

Tradition in Modern Italy, 1993

(D) Developing Democracy

Towards Consolidation, 1999

65.

66.
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Y-URMTIhd=al 3§ hIUT=Al IR

HEAE N ST ?

(A) 3faaq € fanfaaa
(B) omH9 o4
(C) T ge-id

(D) < SEHTE

Y-IYMHRAT GHRTA  GAGCTATAT

feed .

(A) TRTH 3f1g TBATHZ, 1992

(B) T foeTse = ¢ 31 3fvg
= 31 T dee uifafead, 1992

(C) HfehT SHiRHT oo : fafoew ISwm
3 Hfed geell, 1993

D) Eeeeftin SHE : 2Agy FETAR,

1999
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67. Essence of ‘Good Governance’ lies

68.

in :

(A) Strengthening the public sector
by infusing more capital to keep
it growing

(B) of

Stringent application

POSDCORB principles

(C) Development of social capital
and networking with societal

organisations

(D) Renewed energizing  of

bureaucracy

Which aspect of good governance
is critically reviewed by many

commentators ?

(A) Social capital

(B) Aid-giving precondition
(C) Civil participation

(D) Participative decentralized

governance

68.
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(A) 3Tfien e Taad AesIeh &

TR R0 HEA A JGTd Bl

<0

(B) POSDCORB dxdid¥l w%e®h

STHASSITEON
(C) mmaTfas wigaa famm emfo

(D) SRRMEN gASitod Yol

G-TRITEEh =T U] Yo 3Tk STIehiHT

Tafecas Tiem & R ?

(A) ISR 9iead

(B) @@ Juaredl Yol -31ed

(C) AP G84rT

(D) Te9TTt foshfsa emerehal

32



69.

70.

71.

Which one of the following is
historically a basic mechanism of

accountability ?

(A) Citizens’ charter

(B) Ombudsman system

(C) New Public Management

(D) Entrepreneurial management

Which scheme was launched to

provide healthcare facilities to over

10 crore families ?

(A) Pradhanmantri Jan Arogya
Yojana

(B) Ayushman Bharat

(C) Sukanya Samriddhi Yojana

(D) Pradhanmantri Jeevan dJyoti

Bima Yojana

The science of control and

communication is known as :
(A) Informatics

(B) Hermeneutics

(C) Logistics

(D) Cybernetics

MAR - 15223/1I—-D

69. IIMIET R TRgS TIeerdeh!

FIV TAYT T AR 7

(A) AR T

(B) AlIS@AT =aed

(C) -9 ok I

(D) ST HaEATT

70. T@ hIEGd SifEe HZA AR

gfaen RfquamErel sIvt dsHr @np
Hell  ?

(A) FEUFHS SF ARG A
(B) STSHM WRd

(C) gl |Hgl ASH

(D) FHEST Sed Sadt s e

71. fEFw onfn wg=A W= SMETEn

39 TEUTA.
(A) HIfEdeme
(B) ALfHvEA I

(C) THImEA

(D) HIYERT IME
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72.

73.

Who among the following scholars
did not advocate the concept of New

Public Administration ?
(A) Dwight Waldo

(B) Frank Marini

(C) Peter Self

(D) Fredrickson

Give the correct answer by using the

codes given below :
Assertion (A) :

There is no any marked difference
between public and private

administration.
Reason (R) :

Both are conducted according to the

same principles.
Codes :

(A) Both (A) and (R) are true and

(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true but
(R) is not correct explanation

of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

72.

73.
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ST deh! HITTcA] STSITHRT ol

RYIMEATT QRN hall @l ?
(A) TIES AeEl

(B) % Af

(C) diX Heh

(D) HweEwdT

el Fehdieh=l aM hed AT I
forer ¢
faam™ (A) :

HTESTeh YR AT WIS 99 a1
IV Soosh 3T Tleh gl

T (R) :

SR HAER/HRIR. FHAM TR

el
ﬁiﬁﬂ'ﬁﬁ :
(A) (A) 3T (R) § ST A0 aIaX

3 (R) T (A) o RIS SIS
3Ty

(B) (A) 2707 (R) & TG99 SIsR 377=d
T (R) ® (A) I I8 TSR]

BRI
(C) (A) R T 997 (R) T T 3T
(D) (A) = &8 901 (R) ® SR 38
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74.

The concept and program of Citizens’
Charter was first initiated and

launched in :

74.
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AT 99 a1 Gehoud=t  STfuT

FHEGHAET JUH gEaW ST STHA-

(A) UK (A) 7.
(B) USA (B) ZTHT
(C) Sweden (C) ==
(D) Canada (D) el
75. Genesis of Public Administration | 75. TRYSTHAE H3 A=Al Jeid SfEsd
lies in its objective of : o
(A) Management of government’s
(A) TMHRT HEATE LA
business
(B) Making distinction between (B) wrefsifish wedda ‘TS’ A
‘political’ and ‘administrative’ ‘OISR HIEHES Bl il
activity in public organization
(C) eI a St YA Hleh
(C) Making distinction between
EU
public and private administration
(D) POSDCORB (D) POSDCORB
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76. Match List I (Theorists) with List IT

(Arguments) and select the correct
answer from the codes :

List I
(Theorists)

(@) Evan S. Banki

(b) E. N. Gladden

(¢) Henri Fayol

(d) W. F. Willoughby

List II
(Arguments)

(1) The true realm of Public
Administration is to be found in
the administrative sectors of
government which conduct
management of public affairs

(2) Administration must not be
confused with government. It is
only one of its functions.

(3) In its broadest sense it denotes
the work involved in the actual
conduct of government affairs

(4) Administration means
performance of executive
function of the state

Codes :

(@ @) () (@

A 1) @ Q) @)

B) 4 1 @ G

< 3 @ @ @

D 2 G 1 @

MAR - 15223/11—D

76. @t I (faamea) suftn act 11 (Ffrar)

AT Siedl ATl ST FehdlehTHYA A
ERLECEINE

(@)
®)
(c)
(d)

(1)

(2)

3)

(4)

et 1

(faemtaa)
3. T Tefed
T EmE

arer 11

(Ffertaa)
TARYIEAT BR & IEATA
W &I 3R S HES(Teh

T SHIEIT .

A 9 YIIMTEE IreATd TToatd sl
M . WEE § A Shdes
TH S TR

Uk A ATRIIMET ST
Td FRYRHE HHIfOSE STHA]

Irqa wEEn ey .

ARMHAA +UlSl 54 l=d] CAPEAR
e n hd [aV
EIEICIESENESIEMI @ﬂ

- -
.
.

(@ b)) © (@@

@A 1 @ & @
B) @ @O @ O
© 3 @2 @ @)
D 2 & @O @
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77. Give the correct answer by using the

codes given below :
Assertion (A) :

The chief objective of Public
Administration is to provide easy
and hassle-free access of its services

to the citizens.
Reason (R) :

Citizens’ grievances can be easily
redressed if there is face to face
contact between citizens and

administration.
Codes :

(A) Both (A) and (R) are individually
true and (R) is the correct

explanation of (A)

(B) Both (A) and (R) are individually
correct, but (R) is not the correct

explanation of (A)

(C) (A) is true and (R) is false

(D) (A) is false and (R) is true

MAR - 15223/1I—-D

77. @il fodiedn PEIqT ara SWw fHereT

faam= A) :

AR IRTEAT TE 3T AN TSt

1o SrERfed 9ar SUeTs R0l B 3.

%uT (R) :

IR AN o Y9I I3 U

o o

gUeh 3THA T AR dehTig T4

ARVYI

g8l BI%  ITohd.

- -
-
-

N N

(A) (A) 3TfT (R) § Sl S9! aRIeR

A (R) B (A) o TeR TR
3R

(B) (A) 707 (R) & TG99 SIeR 372

T (R) ® (A) ¥ Irg TR0l

BRIkl
(C) (A) IR 3T 3T (R) T T 3T

(D) (A) I 3T 3701 (R) B = 3T
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78. Public Administration has evolved
through various stages. Arrange the

following stages chronologically :

(1) Principles Approach

(2) Public Policy Approach

(3) Administrative Behaviour

Approach

(4) Politics-Administration

Dichotomy

(56) Ecological Approach

Codes :

@A @ @O 6 G @

B) @ 1 @ @ 6)

© @ @O @ 6 @

D @ @ G QO O3

MAR - 15223/11—D

78. TAIhYRTHATE S SToTeaI TUAAR

el 3. Weflel <0 ST ol :

(1) dwren gfesH

(2) WESIH® gRU gfesms

(3) RIS Ta=arel gieeehd

(4) USTHIF-YIMEA Bg

(5) URYIawE! giteshia

- -
.
.

@A @ @O G G @

B) @ O @ @ 6)

© @ @O @ 6 @

D @ @2 G QO O3
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79. Match List I (Thinkers) with List IT
(Definitions) and select the correct
answer from the codes :

(@)
@)
(c)
(d)

(1)

(2)

3)

(4)

List I
(Thinkers)
F. M. Marx
L. D. White
D. E. Marshall
J. M. Pfiffner
List 1II
(Definitions)

Public Administration consists
of all those operations having
for their purpose the fulfilment
or enforcement of public policy.

Administration is a determined
action taken in pursuit of a
conscious purpose.

Administration is the
organization and direction of
human material resources to

achieve desired ends.

Public Administration is the
fulfilment or enforcement of
public policy as declared by the
competent authorities.

Codes :

(@ ) () ()
A @ @2 & @
B @ @O @ 3
< 1 @ 6 @
D 3 O @ @

MAR - 15223/1I—-D

79. It I (Tommed) snfor =met 11 (Samen)
I AT Hes T @efidl Hehdrehid

IR Hed AT W fEer

(@)
)
(c)
(d)

(1)

(2)

3)

(4)

RICU |
(fammdEa)
e

=g
r3te

TR
RICN i |

(=aTE)
AHIRIEA 3T | Ficll o hA=
THEYT ST STal, SHiEl 3eVl
qresife eivonsEt qdar feat
STHATSE0 L0 B STl
STUiageish Bqe WIS shetall
T HT=a Sl s TUre JRIEA
.
sTaferd Sfeserean yeftEmer sheral
At | fifas FEEE gued 9
v =S e 2.

T ATYRTIAHT TER Al
HreSIen HIT=H eidl fehall shrEiare]

BN ARSI B

T T
Tl €l
2.
3.

g.
.

- -
-
-

A) @)
(B) (2
€
D) 3)

(@) (b)
2
(1)
4)

(1)

(c)
3)
4)
3)
2)

(d)
(1)
3)
(2)
4)

39

[P.T.O.



80. Give the correct answer by using the

codes given below :
Assertion (A) :

Government administration differs
from all other administrative work

by virtue of its public nature.
Reason (R) :

Private administration does not
have any great responsibility

towards the public.
Codes :

(A) Both (A) and (R) are individually
true and (R) is the correct

explanation of (A)

(B) Both (A) and (R) are individually
correct, but (R) is not the correct

explanation of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

MAR - 15223/11—D

80. Wil HehdlhM=l AT H&d AN It

IREEIEE

faam (A) :

YMEHTE JIMEA S TR =T

qESIeh &A= HEAT A0S

S 3R,

T (R) :

TSI G AlhTddl HIg! STeTeler]

.
i

(A) (A) 3T (R) B ST A0 aIaX

A (R) B (A) o TSR TR
3R

(B) (A) =71 (R) § Sal S9! sRIeR
37ed 901 (R) & (A) = IRI TR
BIE|

(C) (A) R 3T 907 (R) ¥ I 378

(D) (A) I 38 901 (R) & s 2T
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81.

82.

The policy of apartheid chiefly

denies :

(A) Political equality
(B) Legal equality
(C) Social equality
(D) Economic equality

The ‘three-dimensional’ account of

power was given by :
(A) Steven Lukes
(B) Robert Dahl

(C) Peter Bachrach and Morton

Baratz

(D) Michel Foucault

81.

82.

MAR - 15223/1I—-D

& quigH™ GRU & AhRd 7

(A) TSTHIF 9o

(B) eI |y

(C) HMIfSTeh THdT

(D) sfefsr Swar
o it Sehed T wivi Areelt ?
(A) fe== wgRE
(B) Uad =@a
(C) Ui SMemmE  3Mfor | s

(D) a9 et

83. The traditional concept of justice is | 83. TUNA =d Gehoddl AT HITTC]
based upon : AR ?
(A) Social (A) =TSR
(B) Political (B) SThid
(C) Ethical (C) Hfceh
(D) Material or economic (D) 9ifaes fewer smfels
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84.

85.

Marx’s concept of justice demands :
(@) State regulated justice
(b) Abolition of class structure
(¢) Making of just laws

(d) Placing means of production

under state control
Codes :
(A) (a), (c) and (d)
(B) (a), (), (c) and (d)
(C) (c) and (d)
(D) (b) and (d)

Who is the author of ‘The Rights of

Men’ ?

(A) Edmund Burke
(B) Thomas Paine
(C) John Locke

(D) T. H. Green

84.

85.

MAR - 15223/11—D

AR AR Hohedad i ST140d

qE ?

o

(@) Tsam i

NN
a ol 4

(b) o TEEE B

(¢) A FrEearEt fAfHdt

(d) SR FIEAM T A=
a0

Hehdich :

(A) (@), (c) =0 (d)

(B) (a), (), (c) =0 (d)

(C) (c) M (d)

D) (b) 2fo1 (d)

‘T W S WA A JATA ek R0
AR ?

(A) TSHE &

(B) oimg T

(C) S ik

(D) <. wE. WA
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86. Match the List I with List II and

select the correct answer from the

codes :

(a)
(b)
(c)
(d)

(1)

(2)

3)

(4)

List I
Carolyn Merchant
German Greens
Humanist Ecologism
Ecosocialism

List II

Supports biometric equality and
upholds animal rights parallel

to humans

environment
of
capitalism’s rapacious quest

Explains

destruction 1in terms

for profits

Highlighted links between
gender oppression and the
death of nature

Think globally, act locally

Codes :

(A) @)
B) 3
(C) 2
D) )

(@) (®)
(1)
2)
(3)

(1)

(c)
3)
(4)
(1)
(2)

(d)
(2)
(1)
(4)
3)

MAR - 15223/1I—-D

86. AT I3 AT I1 o S Hebd FATclied

Iy IR Haer

(@)
®)
(c)
(d)

(1)

2)

3)

(4)

RIC |
FHUAH T
STHA W

Ae] qigftedrg
T GHSETR
et 11

AR FHMIET difcen ST H=al

TIARTIHTO YO Bahieit gHLH

TR B HiSaoRN=l 1A
TR BT Hefd Tase
HLl.

o wrareres gu= enfor fam axo
AT ERfRed el

dfyees fo=m, Tenfie

- -
-
-

A) @)
B) 3
C) 2
D) )

(@) ()
1)

(2)

() (@)
3)

4)

(2)
(1)

@) 1 @

1 @ O
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87.

88.

89.

Which theory of rights best explains

its nature ?

(A) Social welfare theory

(B) Theory of natural rights
(C) Historical theory of rights
(D) Legal theory

Rousseau favoured :

(A) Representative democracy
(B) Indirect democracy

(C) Direct democracy

(D) Mixed democracy

The Lockean conception of social
contract contributed to the classical
theory of democracy. Which of the
is not

following statements

democratic according to Locke ?

(A)

The basis of political power was

the consent of the people

(B) People were real sovereign

(C) Constitutional but absolute

government

(D) Government not protector of

individual’s rights

817.

88.

89.

MAR - 15223/11—D

gFRTE IVl Tagid <= 9T W&&Ey

e KAl ?
(A)

ISR Sheaurehid fagrd

(B) w&fifer gehi=n fogia
(C) Uit sFrrn g
(D) =R g

®HM HIME FHAT Dl ?
(A) wfafifuss wrensmer

(B) 3798l IRl

(C) Ucae TR

(D) Hfay <rnemer

AR AR Sh Teha U Tk YITe=

Afysia fagriaa e fea 2.

TR I I8 =1 HaT{aR

NETUHEIAN kA

(A) TSTE=ET T § Al ST 8
KSrerl|

(B) % &9 B HEWH

(C) TATHS: gul T I

(D) ITHR CIhI=aT BFhId HI&TH

FHA
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90. Conservative ideology believes

91.

92.

that :
(@)
(b)

Human rationality is unreliable

Moral corruption is implicit in

each human individual

(c)

Human beings have limited
intellect

(d)

Reform and revolution often
lead to greater suffering rather
than less

Codes :

(A) (b) and (d)

(B) (a), (), (c) and (d)
(C) (®), (¢) and (d)

(D) (@) and (d)

is not a fundamental

(A) Right to Life

(B) Right Against Exploitation

(C) Right to Property

(D) Right to Equality

Which one of the following is not an

inter-state dispute ?

(A) Dispute over Chandigarh

(B) Cauvery water dispute

(C) Maharashtra—Karnataka border
dispute

(D) Gorkhaland

90.

91.

92.

MAR - 15223/1I—-D

ROUAG! fOEaRYIeaR

(@) el foiesh B S9RERT= STEd

Afaes ysedl Yo HMeEl ¥l

Ko

®)

(c) WUTEET gt AAfed STHd

d)

YR ST ShiciiHes FgHr= 31feren
REEEENI

Hehdiah :

(b) o (d)

(@), (b), (c) 3T (d)

®), (¢) =t (d)

(@) 301 (d)

(A)
(B)
(&)

(D) FHFECET ARR

EATeTUeh! ShIvIdT TS feamer=n fama
e ?
(A) =fTs =T 9%

(B) wEd 51 foere

(C) HERTZ-Fcsh HHER

(D) TRETS
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93.

94.

95.

96.

Two members of which community
are nominated by the President to
Lok Sabha ?

(A) Tribal

(B) Minority

(C) Anglo-Indian
(D) Hindu

Article 348 (2) of the Constitution
deals with :

(A) Authorised language of the
High Court

(B) Language of the Parliament
(C) Medium of Instruction
(D) Language of the Supreme Court

Indian Constitution envisages a

(A) Quasi-Federal
(B) Federal

(C) Confederal
(D) Non-federal

Public interest litigation became

popular during the tenure of ............ .
(A) dJustice P. N. Bhagwati

(B) dJustice Deepak Mishra

(C) dJustice Y. V. Chandrachud
(D) Justice P. B. Sawant

93.

94.

95.

96.

MAR - 15223/I1—D
T TeAeh Shivel FHRTAT G FRIEET
AhANT T AHARRE HLd[ 2
(A) efeerdt
(B) STeUHEATH
(C) shali-gfeem
D) f&g

A HAH 348 (2) WL AT SErEl
fo=mr B@

(A) S=a FACETE GTEehd  qTe
(B) GHa=T wren
(C) Toraroma wresm

(D) Hated —AECHET ATo
ARAE e
T fo=R TR,
(A) STEEETH
(B) eI

(C) HRrH=sH
(D) o werT=

hTRTAd AhTT  STel.
(A) = d. T e
(B) = <es fasn

(C) <. 9™. =l F5IS
(D) = W. . Hed
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97.

98.

Which of the following Commissions

does not deal with riots in India ?
(A) Madan Commission

(B) Shrikrishna Commission

(C) Nanavati Commission

(D) Punchhi Commission

Which of the following is not a type
of party system ?

(A) Regional Party System
(B) One-Party System

(C) Two-Party System

(D) Multi-Party System

97.

98.

MAR - 15223/1I—-D

@ik ! ShIvTAT TR WAl S =
A HIG AT ?

(A) A STEN

(B) #iFsu STEM

(C) THEET ST

(D) ¥t M

Teedeh] IV 98 TEEArEl ThR
T 2

(A) RS wet ugedt

(B) ThUEl TEH

(C) fgu&r ugudt

(D) =59« UgHd!

99. Who among the following is not the | 99. WIeliclieh! IV YRATE YT A& 2
. .. o 0
Prime Minister of India * A) 5
(A) Charan Singh
(B) SWISite 1|
(B) Jagjivan Ram
(C) Chandra Shekhar (C) =5
(D) H. D. Deve Gowda (D) TH. <. e
100. Who among the following was | 100. ®ciiciusht IV TR ST HRAT TS
India’s President for two consecutive B ?
terms ? )
(A) T St
(A) Gyani Zail Singh
: : (B) gfawr qrdta
(B) Pratibha Patil
(C) Rajendra Prasad (C) TS5 HER
(D) APJ Abdul Kalam (D) TS TgA hed™
47 [P.T.O.
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ROUGH WORK
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